Pattern Block Growing Patterns (3A)

| copied the pattern. ===/ AA/AA
| built more arrangements.
The pattern started with and each time it grew by _ .

The last one | built had

The 10™ arrangement in the sequence will look like
because
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An Hour or Bust! (3B)

Partner A: | spun and colored in minutes.
Partner B: | spun and colored in minutes.
Partner A: | spun and colored in more minutes
for a total of minutes.
Partner B: | spun and colored in more minutes
\_ for a total of minutes. -

Do | want to spin again?

p

~

ariner A: Yes | do.

| spun and colored in more minutes
for a total of minutes.
No | don'’t.

k | don’t want to spin again. /
\

/Pariner B: Yes | do.

| spun and colored in more minutes
for a total of minutes.
No | don'’t.
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| don’t want to spin again.
Math Bucket Mystery Patterns (3C)

ﬁ’rook a handful of

| sorted by and

Your pattern is

My pattern is

\_
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Which One Doesn’t Belong (3D)

-

doesn’t belong because

\_
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/

doesn’t belong because
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/

doesn’t belong because

\_
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Which One Doesn’t Belong? Invent a Sheet (3E)

-

| chose R ] and

doesn’t belong because

\_
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doesn’t belong because

.
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| chose R ] and
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Count and Compare 2’s (3F)

g N
Partner A: My card is worth
S Partner B: My card is worth y
4 N
Partner A: | have
(more/less)
Partner B: | have
(more/less)
\_ /
[ We spun SO takes the cards. }
End of game:
- N
| have a total of cards.
| have a total of cards.
\_ /
e =)
We spun o) wins the game!
\ J
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